def test_perm_mean(Xx,y,side="upper",B=100) :

n_first_class = np.size(np.where(y==1))
ml = np.mean(x[0:n_first_class])

m2 = np.mean(x[n_first class:])

zobs = m2-ml

diff_sim = np.zeros(B)

for b in range(B):

xb = permutation(x)
ml = np.mean(xb[0:n_first_class])
m2 = np.mean(xb[n_first_class:])

diff_sim[b] = m2-ml
if (side=="upper"):
pvalue = np.sum(diff_sim>zobs)/B
elif (side==""lower"):
pvalue = np.sum(diff_sim<zobs)/B
else:
pvalue = min(np.sum(diff_sim<zobs)/B,np.sum(diff_sim>zobs)/B)*2
return( [zobs,pvalue,diff_sim])



